
 

 

ЀЀЀЀЀЀЀ 11 Ѐ 12 (15 ЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

1. ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ( )θExp  Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ( ) θ
1

t
F t e

−
= − , ЀЀЀ ЀЀЀЀЀЀЀЀ θ  – ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  

Ѐ) ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ λ 1 θ= ? 

Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 1
x

e x≈ +  ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ x , ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ p  ЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ 1 n  ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

2. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 1 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ Ѐ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ k  ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ n → ∞ . ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X  «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ». 

3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ( )λP .  

4. Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 18.00 ЀЀ 18.30 Ѐ ЀЀЀЀЀ 

ЀЀЀЀЀЀ: 

Ѐ) ЀЀЀЀЀ 4 ЀЀЀЀЀЀЀЀЀЀ; 

Ѐ) ЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀЀЀЀЀЀЀ.  

5. Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 2,6. ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ Ѐ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ: 

Ѐ) Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀ; 

Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 2:3 Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ). 

 

6. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. 

Ѐ) ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ?  

Ѐ) ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ λ  )? 

7. ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

12 ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ 0,95 Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ? 

8. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 27 ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 3 ЀЀЀЀ-

ЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ-ЀЀЀЀЀЀ, 

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ 0,95 ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? 
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ЀЀЀЀЀЀ 

1. Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; Ѐ) 
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5. Ѐ) 0,074; Ѐ) 0,023. 6. Ѐ) ЀЀЀЀЀЀ; Ѐ) 
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. 7. 112. 8. 96. 

 

ЀЀЀЀЀЀЀ Ѐ Excel 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ.ЀЀЀЀ( ;λ; )k fl= , 

ЀЀЀ 0fl =  ЀЀЀЀЀЀЀЀЀ 
λλ

!

k

e
k

−
 , ЀЀЀ 1fl =  ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

λ

1

λ

!

jk

j

e
j

−

=

∑ . 

 

Яг
уб
ов
.Р
Ф


